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f(x) ≡ 0 (mod p), (14)
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 x1 �= x2 ∈ Zp ��
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ax1 + b ≡ 0 (mod p),
ax2 + b ≡ 0 (mod p).
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�� f(x) ∈ Z[x] 
 st f(x) > 1� 1� a ∈ Z* ����� 
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g(x) ∈ Z[x] �
��* �
 st g(x) = st f(x)− 1 


f(x) = g(x)(x− a) + f(a).
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 xk − ak = (x− a)(xk−1 + xk−2a + · · ·+ xak−2 + ak−1)�6
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f(x) = g(x)(x− xn+1) + f(xn+1).
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g(x) ≡ 0 (mod p),
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f(x) = (x− 1)...(x− (p− 1))− xp−1 + 1.
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f(x) ≡ 0 (mod p).
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f(x) ≡ 0 (mod pα+1)
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f(x) ≡ 0 (mod pα).
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(x0 + tpα)j = xj
0 + jxj−1

0 tpα + kpα+1

��� j = 0, 1, 2, ...�  ���

(x0 + tpα)j ≡ xj
0 + jxj−1

0 tpα (mod pα+1).
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f(x0 + tpα) ≡ f(x0) + f ′(x0)tpα (mod pα+1).
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(mod pα+1) ��������� f(x0)+ f ′(x0)tpα ≡ 0 (mod pα+1) � 	� �
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x2 + x + 3 ≡ 0 (mod 25)�
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x2 + x + 3 ≡ 0 (mod 5)�
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1 + 3t1 ≡ 0 (mod 5)�
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3 + 7t2 ≡ 0 (mod 5)�
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f(x) ≡ 0 (mod m)�
��� m = pα1

1 pα2
2 ...pαn

n �� ��������0 ��1���� �
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f(x) ≡ 0 (mod p
αj

j ), j = 1, 2, ..., n

� �� ������ n����� ���"��
 x1, x2, ..., xn 2xj �� ���"���� ����������� f(x) ≡ 0 (mod p
αj
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 x ≡ xj

(mod p
αj

j ), j = 1, 2, ..., n � x ∈ {0, 1, ...,m− 1}�


